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clue #11: Which one is a constant? clue #16: Which is a term with cOeffi"Cién-f?
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clue #12: Which two are like terms? (put
letter in blank)H: 1 and 2 1: 1 and 3 L: 2 and clue #17: Which one is a constant?
3 F: None
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Gy clue #13: Which expression has the least clue #18: Which term has the greatest
Rt ETELIS? coefficient?
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clue #14: Which two are like terms? R: 1 Clue #19: What would | get if | simplified
and 2 T: 1 and 3 L: 2 and 3 G: None A

clue #15: Which is the coefficient of this

Now fi tth Il
expression: -5yx 5 OW Tigure out the message
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